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QUESTION 1

In a Cross-vCenter implementation, where is the Universal Control Cluster deployed and configured?
A. In each vCenter instance associated with the Cross-vCenter implementation.

B. In each prepared NSX cluster associated with the Cross-vCenter implementation.

C. In every vCenter instance associated with an NSX Manager.

D. In the vCenter instance associated with the Primary NSX Manager.

Correct Answer: D

QUESTION 2

Which vSphere network object abstracts the physical network, provides access-level switching in the hypervisor and
enables support for overlay networking?

A. Standard Switch

B. Distributed Port Group
C. Distributed Switch

D. Logical Switch

Correct Answer: C

QUESTION 3

How many vCenter Server environments can a single NSX Manager serve at one time?
A. 2000 vCenter Servers

B. 10 vCenter Servers

C. 1 vCenter Server

D. 2 vCenter Servers

Correct Answer: C

QUESTION 4

You have deployed an Edge Services Gateway with the following interface configuration:
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Configure interfaces of this NSX Edge.

| F @ 5% Actions

vHICH 1 &' Name IP Addrass Subnet Prefix Length  Cannected To
0 Uplink: 192.168.100:3* 24 j vds-mgt_Uplink Network
192,168.10014 ' , |
1 Transit-Metwork 192.168.51° 29 Transit-Metwark-01

Your customer has requested that you provide the ability to use Remote Desktop Protocol to log into a virtual machine
that has a tenant IP address of 192.168.7.21 using the provider IP address 192.168.100.4. You have performed the
following configuration however, you cannot RDP into the virtual machine.

(7)
Applied On: | Transit-Network - | @
Original IP/Range: #(192.168.100.4 |
Protocol: [ rdp |~ |
Original Port/fRange: Ilany B i v

Translated IP/Range: *[’%92.1531’?.2&
Transiated Port/Range: |an~_.r v

Description:

[+/] Enabled
[_] Enable logging

[ ok || cancel |

et

What configuration change do you need to make to allow this connection?

A. Change Applied On to "Uplink".
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B. Change the Protocol to "any".
C. Change the Translated Port/Range to "rdp".
D. Swap the Original IP/Range and Translated IP/Range IP Addresses.

Correct Answer: A

QUESTION 5

Internet access is required from virtual machines located on any logical switch. Direct access from the internet to these
virtual machines is NOT permitted.

(BGP)
HQ Uplink
192.168.100.0/24

Perimeter N
(HA, FW, NAT
Servict

A ]192.168.10.1

Dynamic Rouﬂng:
(BGP) J'

Transit Logica
192.168.10.0/

192.168.10.5

Distribut

App Logical Swilch

Web Logical Switch

i

Which Perimeter NSX Edge feature would achieve this with the least configuration?

A.LB
B. DNAT

C. SNAT
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D. VPN

Correct Answer: B
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